| %@H,‘?f 3 @Mu{m

~ass dp\oa“ M = 0.0tk * 0.0005 kg
Awm ,:" ©.0005
M oo T 0.097
Wass og arm M = 0.229 % 0.0005 “j
AM 0.0005
M - o223 = 0.0021
ema‘H\ ‘me px\/o{' L= o 2%‘5 I 0.002 wn
%v cevder o? wass AL o.002
L = Tong5 T 00070
[
cmq[e oC Swmq o
ek O Cee) © = 20.61 00
) 2ts
- 26.5 cos @ T 0,994 T o0.005
E 2.0 (1= s8) = 0,106 * o.c05
t . 2o
S 1r3 Al-os®)  5.00S
© 2%.5 (1-co=9) 006 - 0-0%T2

\nefg\/»w" o ccﬁa?uﬂ' 0.7%0 t 0,005 m
dlae Koo AM 0.005
H = o7%0 ~ 0. ol

e

The laraest
\oo\%ﬁ& OV\,,@'

mchma;q L&V\CQM’M V\J(L{ \0&( wcar s {h ( ?"60593)
1+ is nearly 5/@ :

@M«s less than *19%,



|
'y A
s
S?cecj ogarm%‘oa,@? V?__ -\ Q. ( — s ) ’\ZCKL( COS@&
Ay, 1 G A alee) (1 (
T = 2 f + cos@ - 2 lo,oo’%c)-ro,o%?’z.i
= Q.o02%H)
= N, = 038+ o.027( (0368)
= 0,703t o0.020% "
o+ g\
A\lg Av, A (N;*ML\L A vy
\/\‘ = VZ - \M{‘*’W"L ¥ Mg
0.0cl ko
= 0,02F 4+ 025 ky T D06
WV
z 0.073%0
> v, = 3553 % = o,oa%OCB»‘SSgM[s)

= 2553 % o125 "/




v,
N[ DO—7- -~
B N
Y :
< d >
| \ 2 H o .
Time o it gco\/ L= \\ C(EJ( = 0.7299 s
} At 1 7 L C 2
[ B £ Tz L "D T Sl dd
= 0O.003%Q
"—5 t = 02¥s T 0,00%2 (O ’iﬁ?\
- , = 0399 * 0.00( s
B D‘s‘(’a\/\(ﬂ/ ’\\vaw,(z;l hor %ovd'cﬁéq J ; [(H1& m
Ad Avy M
d T Ty Y g = 0,0%%0 + 0.003%7
- o.o4i2
@ =5 d = Higw *o. owz gm\
| — (4% m E 0058 wm



